Schofield & Sims | Written Calculation: Addition 5

More practice Set out these questions yourself to answer them.

Bl 65+ 23=7

35+ 54 =7
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Problem solving

I Ahmed bought a T-shirt costing
£23 and a pair of jeans costing £42.
What was the total cost?
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HF1 Dinais 23 years old. Her gran is
L6 years older than she is. How old
is her gran?
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Sam collects stickers. He has L5 stickers

in one book and 52 in another.
How many stickers is that altogether?
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El 38+ Ll =7
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I Find the total of 2L and 72.
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LE The height of Li’s cat is 23cm. Li's dog
is 61 cm taller than her cat. What is

the height of Li's dog?
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IE What is the sum of 36 and 627
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| How did I find Step 1?
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